zo¥ 4 8]y shon dio 03Ty lezro) o30 B S I ol puasi S - 416387
lgde

BLEWL

o3B3y suan din isly B (gillg) Olgno Basd Sullg ey diw o351 4203 o gl To3 of sy
losie g Bagr Alic Wl b Fally eSS 13] Lo Byel dg cims e 318 Ui cagang Llall 30 90
Bblaall (o 421l gally Jasd dgacsd Jullg dle dgovaiy (1o 0T g ol Jaloud Y1 dgovas @iy

o BSg Slguwdi o lguasg ‘Lfi syl ol o s 939_\,;97 Jedl lile Byel Y oY aylal) dusly Lig
wimeoy 325 dpoc @Blga B dudi pay 4 diseay Hlisll UiSs Tyeally sl e gallg gl ]

dosall G-yl

[

Mgl

i 050 S5 B 1336} Jlss I8 LS Jasll by dslys @lis 456 o Zladll Jasl s all zUf
Bleluall { 15585 1 3a1 a3 pBtasl e&ia s af 33183 15085 J1 pdhs B $ U35 Enfbis LThs s Ladl

acyi e plyedl yisg ol cdlll sgas sie 885 ol iy pulucll duoball lod

] punio g 03 o8 ol e ol dloyoe ucd E06 o Zlol o ) i elidlly ovad o oy
23839 pyall @Bl S5 ail elldy Lgilg osdol e ladle dllig sgmy U3 Tg cay 6331 Blodd] 5 oot Jg
pacg coluc>dlg seally dlad of oo cedal lgde o3 Zlo) oo a9l s ol lai g gl lguds

SO S Al ¢y0 85Ledl @) gasalall fg coyllaid] Blghs ¢LS1 pacy wludly (apymdl Ja¥ ¢ lazsil
(156) o135 4] Gls o) 61 156 deuns pgislal 13] Gl (155) gyl y2a5} 1 )16 LS b ys3lg Lol

157-155/5,2.1 {36441 b lols 46535 oghs e sl fgdle s

(2226) sgls 99?9 (22440) sas soy ) «3Mlall Lo L) b oyl gy e codiis g ol 1gSay ) ole
&t alag aile DI Lo dlll Joas JB 1B we Al oy 5555 (42 (2055) axla cylg (1187) ghaydllg
«Edl 85513 Ele A58 el By b B g5 5] &Jla 3isal

2/1


https://m.islamqa.info/ar/answers/416387
https://m.islamqa.info/ar/answers/416387
https://m.islamqa.info/ar/answers/416387

SRR

QJT o S JsLJ‘il Ao g ((9/403) "C;Léjl" O Ol S3 aS s (plg dayis ol doo Egasdlyg
Swall 885 8 bogi sl Cumdig Magls

. d8ual lg 3ol u.uUlg
(186325) 18y J15udl Glgx tybang

RXGALRCTR S\ - P 079 33 yaan Vool 2 C)i9 el Iy OT gl Q.auo.u C)T Lo.:i cldeg
sl asy yucdlg

A yyo 4d o lgwm olg Aullg po pglolei Lo alll Iga of clidlly Jo¥ asi g

328l 391 o] o Isalay ofg ety dilae lgyioy Oig (Sl dll 1giny of agale prasdl b dasdlg
515 GLg lolats 435 1522851 W yidy csloballs fseball 5odbs uilla) 1 Ml JI6 LS pya
58/l 3=l {Lu.:A

elde Lo casl 188 b ya 8 Hullg cucyg eliy cad 1318
g b o Je of Ll all Jlus

alel dlilg

2/2


https://m.islamqa.info/ar/answers/186325

